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MATHEMATICS By Pradeep Sir
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Q. 1) Find the simplified value of the given

expression 41 < 2 ofs l'lg" 2 - L
feu v e &7 HE JTd ST |
4
(a) lg
OE
16
(C) 12—5
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(00 Q. 2) In an election, 2% persons enrolled in the
- 27 Wt voter list did not participate and 500 votes
3 8 % z_/ were invalid. Two candidates A and B fought

the election, and A defeated B by 200 votes. If
A /\ 8 43% of the persons enrolled in the voter list

casted their votes in favour of A, then what is

h3x 55 the number of the total casted votes?
= a‘l%ﬂa ﬂiﬁﬁmmﬁsa 2% FfaTal
) 9 —> 300 3 ﬁmqﬁﬁmaﬁzso qIe 3ay A1 a
25 e _%{ CRuES xé’tﬁ B &I 200
Reo- exl Hdgldl
—x918 ,,  ofeqdi # 4 43% 7 A S U H 3UTT 9 ITa,
=< al s1d "___é"r_z’faﬁﬁﬁm'-ﬁ%v
= 2'4/;0 (b) 2800

(d) 32504
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Q. 3) A shopkeeper uses 940 gm weight in

place of one kg weight. He sells it at 4% profit.

What will be the actual profit percentage?

(rounded off to two decimal places)

TP gPGR US [dal 91 & R W 940 IH
q1E 1 IUGNT ST ¢ | TH oI BT TN ISP
g8 WA 4% @Y W a9dT gl aiad

(a) 9.25%

(b) 10.32%
(d) 10.96%
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Sp = Q. 4) An electronic store owner allows two successive
= a‘N’ 5 discounts of 20% and 25% on each item. The store has a
14 90?7‘ é?- x 5 reward points scheme which enables a customer to get
: L pp A0 free shopping worth Rs. 0.10 on every 1 reward point
Ar credited to the customer’s account on previous purchases
from the store. A customer decides to buy a laptop that is
9P > Y3t OO0 marked at Rs. 72,000. What will be its net selling price if

—_— ‘ﬁ he has 2850 reward pomts to his credit?
_J9853 ﬁa?wzoeeaﬁ?zseeaﬁa’f

8P x0.10 wﬁ:ﬁ? 3ar g Rﬁ? R

ﬁeﬁv@ﬁﬁaﬂzﬁwm%ﬁﬁmﬁf‘q
Ny m1mmwo1@mﬁﬁﬁw$
/ M%lwmwmaﬂzﬁmﬁmmg

foraeT sifed 72,000 ¥ g1 gfe IS @ra | 2850
ulEc §, a’r?mg? ad [ahd g T BN ?

(a) Rs. 43200

(c) Rs. 42215 (d) Rs. 42942
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Q. 5) If the simple interest at the same interest
rate on Rs. 500 for 4 years and Rs. 700 for 2
years, combined together is Rs. 280, then what

= & SP
is the rate of interest? | N

A S
Xpoo+ Yoo qﬁwaﬂ?ﬁomﬂ__ﬂ_ﬂaﬁ?
Vo 700 ¥UY BT 2 TY BT JTYRY AT HATHT 280
R = _’_ﬂ%‘*}" D d e A qe fead ety
&S | €) 9117% ) 615—7%

e 4 ..
T gy
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Q. 6) In what ratio must water be mixed with

milk, costing Rs. 32 per litre, in order to get a

mixture costing Rs. 28 per litre?

32 ¥ ufd diex @1 oiAd aret gy ¥ fa srgura
¥ gl e S, aﬁzatuﬁaﬂam

ﬁrmmzﬁw?

(c) 1:8 (d) 7:1
|
7
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Q. 7) The mean proporti)on between 7 and 112
a, b .
:ahvnzé?mmmﬁmﬂmaﬁfﬁm
_q:f--— (a) 42
J 777710 (c) 21
— v (d) 14
1 xYy = f___f/..
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Q. 8) The present age of Rahim is five times

R " O the present age of his daughter, Savita. Seven
P O /®\ | years from now, Rahim will be three times as
+3 +'il—'& old as Savita. What is the present age (in

3 : ' years) of Rahim?
\®/ TeT Bt adA 1Y, SH LAl widar Pt adw
3Tg Pt U T 2 mﬁmﬁm;ﬁqaﬁ

:' 3\)':}—902 Wmaﬂmﬁ?ﬂ?ﬁﬁ’ﬁlwnaﬂ
JA

22D (40 A (d)30%
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P * ® Q. 9) P is two times more efficient than Q. P is

c —" L able to complete a piece of work in 40 days
< less than Q. Working together, the whole

T [ ° of number of days taken by them to complete
RS L the work is: (Round off to the nearest integer)

P, Q@a’fgmgf_,f%m ngp Q!hoﬁham

.
A » 2x2 = &0
. nniud b asmwzmaaq? tgqm

P oA Uil a@

:‘2
S ) 2¢ (b) 25

3@
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Q. 10) X and Y can complete a work in 9 days and
36 days, respectively. X begins to do the work and
they work alternately one at a time for one day

each. The whole work will be complete in:

X 3R ¥ U@ B &I HA: 9 f37 ok 36 o7 A w
?ﬂm?lxmmwm%aﬁzémﬁaﬁ
q UF-UF T U-US fe1 o1d ovd g1 9quf s
fFaa RA A wrerm?

o125

| z )3 2113 ’I.,L-i, -+ (b) 13 days x| (d) 15+ days
Y L") |

) h
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Q. 12) 4 women or 6 boys can finish a work in the

ww =— €6
W 3— same number of days. A Boys can finish it in 60
days. In how many days can 5 women finish the

work, working together every day?

P °?$Q°5 4@m6@wmﬁmﬁﬁﬁww
7 TP Tl TP ods] 49 60 AT & 1 7 Fvar 21
ufafes oo wry fraes ord #7a gu 5 Afeeng 3w

p =é: A”“ T B fraat =1 & 1 B2 Wl &2

(a) 4 (b) 10
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Q. 13) In a race around a circular cycling track of 75
km, two cyclists are riding at a speed of 30 km/hr
and 25 km/hr. After what time (in hours) will they
meet at the point from where they started their

journey?

75 [l & 0@ qureR AEfed 0o & uRa: @ ds A

&l argfre AR 30 fddi/ e ok 25 fadt e ot o

¥ urgfea aar ¥@ g1 fea aug (@ef &) & arg 3 39
farg o= AT, SigT & I 3ru=t arn = &t A

(a) 16 (b) 7
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Z- TS Q. 14) A thief steals a van at 3:00 a.m. and drives it
= at a speed of 57 km/hr. The thief is discovered at

thnivogm . 4:00 a.m. and the owner starts the chase with
™
{—@I_—- - another van at a speed of 76 km/hr. At what time

" ‘-\g will he what time will he catch the thief?
U@ dR 3:00 a.m. wqa?ﬁqgﬂm%aﬁvaﬂf
S5 53 27 5 frefl/der #t arer & TAT 21 4:00 am. W AR BT

Iq —— maam%aﬁsz%ﬁnﬁﬂﬁ/maﬁmﬁw
mhﬁmﬁmmwm%lﬁaﬁﬁ
Li:ooam +3Wd ﬁﬁﬁﬁm
") 00 &AM\

(d) 6:00 am
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Q. 16) What is thevalue a® + b> +c®if (a+ b +
c)=07?
3 ,.,3,.3 2obc¢ afg (a+b+c) =08, @ad+b3+c BTHAMA
Q? +b 4+c = <
— T §IM?
(a) a® + b* + ¢* — 3abc
(b)0
(c) 3abc
(d) a® + b®> + ¢* —ab — bc — ca

a+brc =0 =—
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Q. 19) What is the value of

AafRa FT A FATE? TN
C%U-Qy. C.-éZS?.
A= 3C Y
sec? 54° — cot? 36° -i-zsm2 37° xsec 53°
| + .j;—'*/é’*’ﬁ/ 2
) 4+ —tan 60°
v n
3 .
- P'L - %A"* (a) 5/2

Ny

(c) 3/2
(d)7/2
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Q. 20) If D is the midpoint of BC in AABC and
£A =90°, then AD =

afg b, Mscﬁscmnmﬁg%amm 90°
g dlAD = grar 21

(a) BC/4 N

(b) 2BC X

() BOx
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Q. 21) Let ABC, PQR be two congruent
triangles such that angle A= angle P = 90°. If
BC = 13 cm, PR = 5 cm, find AB.

HTH #ifeT ABC, PQRa’rQﬁwahmnﬁgﬁ%ﬁ?
B A = P07 P= [ P= 90° 1 afe BC = 1 13cm PR =

Scm% H’IABW?ﬂﬁl’QI

(c) 10 cm (d) 5 cm
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Q. 22) A 15 cm long perpendicular is drawn
from the centre of a circle to its 40 cm long

chord. Find the radius of the circle.

U® g0 & $x 4 IS 40 41 9t offar R TH
15 AU dars 1 W9 HiET JET 81 g9 Dt A
JTd Siforg|

(c) 22 cm (d) 20 cm
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Q. 23) If the total surface  area g_f a cube is 24

’Co SA = ‘G a” sq.units, then what is the volume of the cube?
afg v@ v 31 Ayl gEta aawe 24 T 5978 @,
% - &y 1 at U9 BT AT FT ERI?

(b) 16 cu. units 0
(c) 10 cu. units ]Q

\) = 0\3 - 07\'5 (d) 4 cu. units)q
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Q. 24) Study the given pie chart and answer
the question that follows.
few e urg aré &1 iy Fifee R A Ru

T UY BT 3R GHorg|
Total population of these six villages is 100%

g 6 TTd P! P ATHBAT 100% &
Population of Six Villages in 2020

Population of six villeges in 2020

The population of village D in 2020 was
105,00.

What was the population of village A in 2020?
2020 ¥ T1Td D BT STHSAT 105,00 A1 2020 H

et

Mg A B TTHSAT [hdt A
(a) 15670 b) 15750

(c) 17550 (d) 7875
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Q. 25) Study the given pie-chart and answer the question that
follows. The pie-chart shows the expenditure incurred in the

Ereparation of a book by a publisher, under various heads.

Expenditure in Book Publishing

T UTE-91¢ BT AT BT 3R Hafafad U &1 I

|
UTE-91¢ UP UHINS gRT [H® 9aR S | fafs #elf & aga
fu T =g &t amfmg?

Expenditure in book publishing T&® UHIRId &4 WX fdar

Paper - P11y

Royalty - J1dec!

Miscellaneous - fafira

Binding - foregaTei!

What is the difference between the angle of pie-chart
showing the expenditure incurred on binding and printing?

arefEn ik W Y $ A dTad UTS 91 & HI0T
& a9 |1 AR 22 aide

(a) 15° (b) 20°
(c) 20° (d) 18°




